H & 0l & AHS B Ml A

B mAS CABALA
oels EEEA HolE Xl (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
@ =gt 111,197,043 112,374,498 A1,177,455
s TAEEXY 111,154,525 112,320,553 A1,166,028
A HIIE Xel 98,527,862 99,788,781 1,260,919
HEHII=Z XM2l2E 74,871,803 76,881,213 /2,009,410
201 fer= 3| 79,857 86,652 A\6,795
01 At 2|l 59,099 64,207 25,108
O34 8y SYEE 14,000,000& 14,000
OUAMEAIIE SEHHSS tis?IE
3,630&+1,318A 4,785
OXtE =2t 28 219 & 8AL =&
100,0002 *38H 3,800
OXGDISENSE =FHLAILE R
987,200 *4=2 | 3,949
OF A ZHALE 0182
10,0002 *1820H = 12 21,840
O=HYSJ| W= fIgXel ==&
429,000 *25& 10,725
02 S3=gHl 20,758 22,445 1,687
OX& =l 17,758
— NS XA 140
SEIHZE) 50,0008 +1CH 50
SEIHSE) 60,0002 *1CH 60
SIEXHFIEAE) 30,0002 *1CH 30
—SFNERE=S 150
SIEIHRIEAE) 150,000 *1CH 150
—28= 6,700
SEIHIE) 250,000 *1CH 250
SEIHSE) 300,000 *1CH 300
-SEAHSE, HAH =)
1,500,000 *2CH 3,000
- SIERHASAE) 350,000 *1CH 350
- SIEXHASUHE)
2,800,000 *1CH 2,800
-5l 6,268
SEXHIE)
1,675 +50L*1CH* 122 1,005
SERHEE)
1,512 +70Lx10H* 122 1,271
SIEIHSE, HOHE =)
1,512 x 110200 = 128 3,992
—==c|H| 4,500
SEIHZE) 900,000 *1TH 900
SEIHSE) 900,000 *1CH 900
-SIEAHSE, HHE =)
1,350,000 «2CH 2,700

_1_




2A:

B mAS CABALA
ol EEA HIIE Xel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ost=HJI=gal Halt|
3,000,000& 3,000
203 =] 1,504 2,044 540
REESEEES 1,504 2,044 540
O=4 U ULs P2xx
1,504,000& 1,504
206 M=H| 2,170,859 2,085,271 85,588
01 MHZH| 2,170,859 2,085,271 85,588
oM SEHSE M 2,170,859
—2eE 1,059,984
+54 37.42:3+1,800,0000H 67,356
-10¢ 45.643 +3,400,0000H 185,176
<208 66.11&+3,500,0000H 231,385
- 504 164.732 *1,400,0000H 230,622
<754 220.85%%1,700,0000H 375,445
— AL 565,632
-10¢ 48.653*1,900,0000H 92,435
<2048 67.13&+6,900,0000K 463,197
—=9M 66,390
104 330& 23, 0000H 7,590
- 302 490 120, 0000H 58,800
—38835F 71,560
504 156:2+80,0000H 12,480
7518 211&%280,0000H 59,080
—S4ES 417,293
12 19.928& #4,700,0000H 93,662
<240 249283 +5,300,0000HK 132,119
- 34 26.928%*2,700,0000H 72,706
+5¢ 37.42:+1,200,0000H 44,904
- 10¢ 45643 *460,0000H 20,99
<208 66. 11&+670,0000H 44,294
- 304 95.69%+90,0000H 8,613
207 ARl 44,000 66,000 22,000
01 A1E4H| 44,000 66,000 /22,000
OdgHll= =& - 2 HHEH J&0IH
g2t 24 22,000,000 22,000
OdMEHIIZ =& - 2 (ALl S &0t &
JE4 22,000,000 22,000
301 LEIE NS 1,500 1,500
14 JIEt2d=3 1,500 1,500
OfAx XgD| SHHSE 2=
1,500,000& 1,500
303 Z&a=s 750 1,500 AT50




A =2t
Hu: HAB CABALH
el 2EEN HIl= X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 750 1,500 AT50
OFLZ20F 2+ 5 8t Ale 750
—zZle=> 360,000&*17H S 350
- 250,000« 104 = 250
—&d 150,0002 104 = 150
307 lztol & 67,939,337 68,489, 105 A549,768
05 2IIRIE =3 67,939,337 68,489,105 NB49,768
OMEHIIE 4+ - 29 S tHay| 67,007,328
— QBB M| ST - 28 (Y]
17,638,855,000& 17,638,855
~TBEE 47 - 29 ()
19,800,013,000 19,800,013
—SASE 4T - 20 (3l
12,409,004,000& 12,400,004
—UEHDiE «=& - 28 ]
6,208, 160,000 6,208,160
—Jt2 & &l 7,091,788,000& 7,091,788
—=S2Z3F 2
3,859,508,000& 3,859,508
o218 MM Hol= Xl
30,000,000& 30,000
OdZHII= g 85 & Xl 902,009
—LEEMD(SHEITH Z8) OHEX 254
770,009,000 770,009
—S0&HII= 22 Xl
220,0003 *600= 132,000
308 AXIHSOIA 4,633,9% 6,149,141 A1,515,145
07 HXHH2LRES 3,769,001 5,141,603 1,372,602
OOIRZNE MR 23
714,609,879&%20. 5% 146,496
O+THMYR MBHIIS Bl 242
116,855@%31,000& 3,622,505
183 SV 2SS & HASAIE 864,995 1,007,538 A142,543
OMYD| SLMSE TN AFABI(SAH
864,995,000 864,99
SSetada 74,000 76,300 2,300
201 fer=3| 74,000 76,300 22,300
01 AtR2t2|H] 54,200 56,500 22,300
oslzbigstaa Xd & szl 54,200
—HoRMES A
150,000& #2900 A+ 122 52,200
—AEZ2 =Al2cll 2,000,000& 2,000
02 S3=gHl 19,800 19,800 0
OSS=Ha4d otyHlotd FXl2tel
19,800,000& 19,800
HIIZ MelAE 23 23,582,059 22,831,268 750,791




SN RESa
Hu: HAB CABALA
el 2EEN HIl= X (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
201 Let2| 7,252,982 6,112,391 1,140,591
01 Ar2eltl 1,500 1,950 A4
ON=gHE F2 FAZEY 2%
1,500,000& 1,500
02 3244l 7,251,482 6,110,441 1,141,041
OX e 29 303 6,095,248
—&JIe32 273,000,000 =123 3,276,000
—SADIARS 134, 164,000&  12& 1,609,968
— Mot ER3 8,000,000 12& 9,000
— &&=l 89,440,000 x 12& 1,073,280
—MHOIEAIZERS
2,000,000& =123 24,000
—NSRUFEHS 16,000,000 *13] 16,000
O24tA BHEA 20K
9,500&+7,521&E+78,592& 71,529
OHDIZM= f€3 1,084,705
—MEHI|IS e
15,0002 *30,900E+1. 168 541,368
—MEHIIS A2
10,0002 *51,500&+0.4%1. 168 240,608
—HEHDI= Tt &M=
10,0002 +8,000&*0.4x1. 168 37,376
—UEHII=2 HEdE®
10,0003 *400=+1. 168 4,672
—A2HAIE 2 HDIE, RS (EHY)
10,0003 *4,000E*1. 168 46,720
—A2PAIE M HDIE, &S0 Y)
25,0003 *10=+1. 168 292
MBT &HAHS
10,000& *7,000&*0.4x1. 168 32,704
—SAZ2HDIZ2 XelAld &2
10,0002 *10,000&+0.4%1. 168 46,720
—NHESHEE S0 SN2
15,0002 *1,300=+1. 168 22,776
—HEHTH 15,0003 *400=+1. 168 7,008
—HEA 10,0002 *3,000&+0.4x1. 168 14,016
—SAIZMEHDIS HE
15,0002 *5,919& 88,785
—SAIEZEEHIIS A2
10,0002 166 &= 1,660
203 LR =&H| 1,701 1,701
03 A=A =XY| 1,701 1,701
OHYIZ2 XMelAlg 28 g2F4
1,701,000& 1,701
207 A OHEH| 21,000 21,000
01 H1=9H| 21,000 21,000




A =2t
B HEH CABALA
el 2EEN HIl= X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORA=SHE DI2FSIE 2IPiM B
21,000,000& 21,000
307 gl2to| & 16,306,376 16,717,176 410,800
05 212t =S 16,306,376 16,717,176 410,800
OXrd =gt 2I2+9& 2E 16,306,376
—42AE 23]
875,585,570« 12& 10,507,027
—MBTAIE 2EH| 259,715,830« 12& 3,116,590
—SA&EXCIAE 23
106,337,580« 12& 1,276,051
—UEHIISX2E 2SH|
117,225,660« 128 1,406,708
AHEHEZ =M 435t 8,931,835 8,580, 111 361,724
SEH0 HEEE 2cliiE 243t 161,490 195,718 AN34,228
201 er23| 83,59 80,848 2,748
01 At2t2ltl 83,5% 80,848 2,748
OHIE =cl - dE MY ANES 28 3%
— g 3003 *3E +200H 123 216
—0tA3 2503 x3E+200Hx 123 180
OHXE =) 248 & =25 728
7,000,000& 42| 28,000
OXE ge & 18183 20| Sgus
=2 55,200
—u MEH S 2Y 12,000,000 12,000
—ZAMN=E 160,000 x38 *902] 43,200
206 M=Hl 77,294 114,270 N36,976
01 MHZH| 77,294 114,270 N\36,976
onges 2= 8J| 7Y 77,29
—MEES 2cl=HU
300, 0003 *50H 15,000
—NHEEE =HE J=2Y
5,000 *3, 00004 15,000
—HIER ZEM =HE =&
2703 %159,6000HK 43,092
—HAEX =HE 77,0002 x40 H 3,080
—HE83gs =8 66,0002 *17H 1,122
301 2N = 600 600
14 0Bt 2as 600 600
OoEgJI25=s 0k AN2HN 243
50,000& * 122 600
HaEs dE8d 29 8,739,945 8,345,193 34,752
201 er23 | 129,600 129,600 0
2 35234l 129,600 129,600 0
OoNgEss 8 ANE=A| 129,600




2A:

B mAS CABALH
Selr AFMES =M 28435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—MEES JE& AMESRAHI
9,000,000& *12& 108,000
—SUMeH olgs ?let =<=4dl uHl, 2
= 21,600,000 21,600
307 212+01& 8,250,213 7,967,669 282,544
05 2IR”tRIE = 8,250,213 7,967,669 282,544
ONgES BT 2228
6,301,029,000& 6,301,029
OMEES &= Xl & 25|
270, 7203 +600E+ 123 1,949,184
308 AtXIEMSOIE 160, 132 177,924 AT7,792
07 HXHH 2R 52 160,132 177,924 AT7,792
OMgE3 S M= WX 2 ===5
148,270 x*0E~ 128 160,132
405 AHAHE S 200,000 70,000 130,000
01 AL =S F=HI 200,000 70,000 130,000
OoNgEss 2 HIE€R =I1 20K
200,000,000& 200,000
HEMY D] BHIE23 HEALS 12,400 17,200 24,800
201 eer23| 12,400 17,200 /4,800
01 AtR2t2|HI 12,400 17,200 4,800
OXE=2t0tE A 2 12,400
—SHEI} MASE
100,000 4 & x33] 1,200
— At 2 S X2 11,200,000 11,200
OLOIAT =& Al =2 18,000 22,000 24,000
201 et23| 18,000 22,000 24,000
01 AtR2telHl 18,000 22,000 24,000
OO0 AR =2t A =&
18,000,000 18,000
CHEmDIIZS 2t 256,492 314,760 A\58,268
HegHoIE2 =H € Xel 256,492 314,760 A\58,268
201 2= 1,600 1,000 600
01 At22t2lt] 1,600 1,000 600
OHDEF 02 &Hl d8 =3
1,600,000 1,600
202 04l 252 360 A108
NETEE 252 360 A108
2R Yool
30,0002 x1&*12&+0.7 252
307 @12t01 & 254,640 313,400 A\58,760
05 eit?(& = 254,640 313,400 AB58,760
OUEHDIZ H=EN A Xeldl
67,0002 <800 *12&*1/5 128,640




SN TREE D
B2 Hel

ol EmoiE & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUgHDI= Hadd® S &= #% X
clbl 350,000& *30E+ 122 126,000
SAER HIIS =HHMelY 28 2 ISt 3,438,336 3,636,901 198,565
SHEF HJIE =H & Mel 3,438,336 3,636,901 198,565
201 Zet=3h] 637,453 615,258 22,19%
01 AtR2t2|HI 527,337 537,958 A10,621
OSASREDIS(E4+E)xz2l 89 xg4
== 2,559,517,800& *0.56% 14,334
ORFID J1Et SASEEI| S|
513,003,000 513,003
2 s5=34l 110,116 77,300 32,816
ORFID JIgt SA=SSEI| FAlZclt]
110,116,000& 110,116
206 M=H| 40,000 40,000
01 M=8l 40,000 40,000
OsalEFHIIZ =H8)] 7 40,000
—28 FAHAEIN(4E)
11,0002 %2,0007H 22,000
—=28 =AZI(UE)
60,0002 *300H 18,000
307 @120l & 2,760,883 2,981,643 A220,760
05 git?(& = 2,760,883 2,981,643 A220,760
OSASFHII2(E+3) XMeldl
2,760,883,000& 2,760,883
A2 BHI(AHH=E1) 42,518 53,945 A1,427
Jl=23H 42,518 53,945 A,427
Jl=23H] 42,518 53,945 A11,427
201 fet= 3| 22,598 23,859 1,261
01 AtR2te|HI 21,732 22,584 AB52
ORMEg0I123| 19,872
—2ot=2H| 40,0002 x23H*12&+0.8 8,832
—=4| 50,0002 2312 0.8 11,040
OFEALR2IZH| S|
155,000& 122 1,860
02 S3=2gl 866 1,275 A409
OoRER3 866
—apt 4303 +502A * 122 258
-S| 2,530 x202A* 122 608
202 04t 16,560 26,726 210,166
01 =LHOHI 16,560 26,726 10,166
OgRFa|=0H|
120,000 x232*122+0.5 16,560
203 =4l 3,360 3,360
M FA2ELRFAI 3,360 3,360
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